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AP A (1 XR0) 1202.10-091 20144E9 H 1H~12H %5t
[EL4 BT P B 4 e B ff%H
105 fp#E A RAEFIE] 1000 | MT 0 = 0 0 = ol
&3t 1000 [ MT 0 - 0 0 0
EnEEEE=RS 10000 1 MT Q — Q 0 Q
AP (AF) 1202.20-091 20144E2 H 18~12H %3t
4 Al BV KE HiAT (%8 *E HA {%E
105 "3 A FILFNE 1000 | MT 1.692 209 354.022 3.358 291 743.596
123 AR 1000 | MT 54 174 9.382 54 174 9.382
304 7 AU B AR E 1000 | MT 379 204 77.399 1.178 183 215.776
410 751 1000 | MT 24 188 4501 48 190 9.107
M3 7T A 1000 | MT 0 - 0 24 198 4.760
U3 T T 1000 | MT 366 174 63.593 611 174 106.226
551 FH 77V FH IFnE 1000 | MT 189 219 41,308 415 221 91.804
601 A—AKZUT 1000 MT 34 227 7,728 ]9 231 20 %RQJ
o 1000 [ MT 2.738 204]  557.933 5777 208]  1.201.240
EnEEEE=R 10000 | MT 2 388 2121 505 786 5603 2151 1205518
B 7- A (R4 2008.11-291 20144E9 H 1H~12H %3t
[EL4 Tina Fa B % e B f%H
105 Hoage A R IEFIE 1000 | KG 187910 234] 43,963 949.284 252 239.470
06 Jﬁi’% 1000 KG 0 = 0 1.950 600 1 17(1_l
&ct 1000 T KG 187.910 234 43.963 951.234 253 240.640
EnEEE=RS 1000 | KG 302,725 215 649351 1999 941 220 269 488
B 7= AP (F i) 2008.11-292 201442 H 1H~12H %=t
£ B Fra A % M HiA %A
105 "3 A BN 1000 | KG 94.696 241 29.852 318.296 243 77.422
304 7%'Hjé\%‘%|4—£] 1000 KG 2612 h9? 1.547 14 065 ho4 7.376
&3t 1000 T KG 97.308 251 24.399 332.361 255 84.798
EnEsEEnE=R 1000 | KG 99 486 268 26 691 360,068 241 86,600}
Z DM AEAETIHE A 2008.11-299
(NNZE—F ) 20144E2 H 18~12H %3t
E4 B AT KE BT f%E e B %8
1000H] KG 2. 822 666 226 636,909 6.131.406 230 1410 RGQ!
1000 [ KG T 28292666 2261 636.909]  6.131.406 230]  1.410.569
1000 K(3 2 338 900 299 762 900 0 006 7306 297 1 40K 9924

1/6



E—F Y-y RGBT

EYEIE{E - WEEREET

ERk264F  (20144F) 2H B

HARF e
HARE —F o ihe
2008.11-120 20144E2 H 1A ~12H %3t
BT Hre B4 (] (%8 e i (%8
105 drafe A B AEF[E 10000 | KG 64.615 332 21.484 107.299 336 36.077
304 7 AV HERE 1000 | KG 86.059 537 46.201 161.131 533 85.859
410 7501 1000 | KG 1,920 252 483 1,920 252 483]
&2t 1000 | KG 152.594 447 68.168 270.350 453 122.419
EnEAEEEE=R 100000 1 KG 138,944 487 67649 352054 467 164,390
BT N2 — () 2008.11-210 20144F2 H 1H~12H %zt
E4 BAAT e BT (iZE I AT fi%E
105 drage A B[ 1000 | KG 170.600 244 41.695 433.100 259 111.962
304 7 AV HERE 10000 | KG 6.061 796 4,827 6.061 796 4,827
413 TN Fo 1000 | KG 19.590 233 4.555 19.590 233 4.555
601 A—RZ1U7 1000 KG 0 — 0 23520 312 7 ’%‘%Q:l
&t 1000 | KG 196.251 260 51.077 482 271 267 128.683
EnESEEEE=R 10000 1 KG 208 284 264 D4 164 638 358 250 159,450
e (55 0713.50-221 20144E2 H 1H~12H #3t
[E4 BT HE B4 (%8 Sre B %8
105 drage A B AF[E 100009 | MT 458 132 60.629 1.012 136 137.266
601 A—RALZ1U7 1000H] MT 49 97 4 088 214 96 20,743
&t 1000 [ MT 500 129 64.717 1.226 129 157.809
| BIAE [ H i 100000 1 MT 529 109 7418 1063 108 114,332
e (X AED) 0713.10-221 20144E2 H 1H~12H Rt
[E4 BT S B4 (%8 e B (%8
205 #[EH 1000 [ MT 272 116 31.529 612 115 70.194
302 HF& 10009 | MT 245 107 26.103 1.029 89 91.977
304 7 A A RE 10009 | MT 20 77 1.535 358 107 38.415
601 A—RALFUT. 10009 | MT 86 53 4.522 293 69 20.240
606 =9 ——F K 1000H] MT 43 130 HAh71 h4 131 7.047
&t 1000 [ MT 666 104 69.260 2.346 97 227.873
EiEAEEEE= 1000 1 MT 1,404 941 131,591 2 444 ]7 211,595
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B a—F Y 0801.32-000 20144E2 H 1H~12H %3t
4 BAAT HE BT % M AR {%E
110 R A 1000 | KG 47.626 532 25.337 237.768 583 138.548
111 24 10007 | KG 14,742 756 11.142 14.742 756 11,142
123 {2 10007 | KG 373.307 798|  297.861| 1.243.244 805] 1.000.563
1258 RUZ>H 1000 KG 600 1.3583 812 600 1.3583 812
o 1000 | KG 436.275 768] 335.152] 1.496.354 769] 1.151.065
EnEsAmEEE=RS 1000 | KG 11851 7121 43538501 1215991 698 8478791
7 —EFR GEAD) 0802.11-200
2Ag—h T —FL R 20144E9 H 1H~12H %2t
[EL4 BT Fa B {4 e B ff%H
1000H] KG 408 hlh 210 408 hlh 91(1_.
&3t 1000 T KG 408 515 210 408 515 210
EnEEEEE=RS 1000 | KG 16.329 603 9.839 33111 581 19,239
T =R GRERWTZHD) 0802.12-100
| A 20144E2 H 1H~12H %z
E4 B4 AT HE B f{%E e HAL %8
1000 KG 0 = 0 0 = (1_.
&Et 1000 [ KG 0 - 0 0 - 0
EnEREEnE=R 1000 | KG Q — Q 0 — Q
T —EUR GRERWTZHD) 0802.12-200
Ap—hT—F R 20144E9 H 1HA~12H %=t
[EL4 Fina Fra B 4 o B %A
210 752 % 1000 | KG 0 - 0 3.500 1.394 4878
218 ALY 10001 | KG 40901] 1.406 57.504 71.445 1.308 93.430
220 ARUT 1000 | KG 0 - 0 7.900 1.129 8.920
304 77><U7J/F,\%‘%IE 1000 KG 3.009 653 {271 2 488 9926 6,563 488 ]18 h 371,361
&zt 1000/ | KG [ 3.050.554 835] 2.546.430]  6.646.333 824] 5.478.589
EnEEEEE=R 1000 | KG 2 777606 6001 16678631 6999 178 574l 3573703
Y RA T A (ER ) 0802.50-000 20144E2 H 1H~12H %3t
E4 BAAT HE BT % M AR %8
K 1000H] KG 228 867 LO18 230 0431 423 172 1010 427 217
10007 | KG 2258671 1.018] 230,043 423172 1.010 427217
1000 K(3 158 077 050 137 534 353 138 R9() 980 ~hAhH
B2 TFF AR H D) 0802.50-000 20144E9 H 1H~12H %2}
[E4 Tina Fray A {4 M B f%H
133 A5 1000 | KG 19442 2.483 48 283 29.038 2.696 78.287
220 AZVT 10007 | KG 1.000] 5.981 5.981 3.000 5.980 17.941
304 7><U77/:.\ 1000H] KG 0 = 0 21 771 2111 45 969
o 1000 | KG 20.442] 2655 54.264 53.809 2.642 142.190
| Ei A [E A e 1000 | KG 300381 1884 28677 71.704 1.797 128 844
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LT AT OHD) 0802.31-000 20144E2 H 1A~12H 2%}
[E4 BT Hre B4 (] (%8 e i (%8
1000H] KG 0 — 0 0 — Q.
&t 1000 | KG 0 - 0 0 - 0
EnEAEEEE=R 1000 1 KG 0 = 0 0 — 0
BT (FREIEWZH D) 0802.32-000 20144E2 H 1 ~12H B3t
E4 AT e AT (i%E S AT fli%E
105 o A B AF[E 1000 | KG 13.600] 1.136 15.455 66.370 1.100 72.975
210 7T A 1000 | KG 0 - 0 628 1.519 954
304 7 AV A SRE 1000 | KG 959.368] 1.170| 1.122.474] 2.337.571 1.180] 2.757.795
409 F1) 1000 KG 47100 1.172 HhH 191 47 100 1.172 hh 191
&2t 1000 [ KG 1.020.068] 1.170] 1.193.120] 2.451.669 1.178] 2.886.915
EnEAEEEE=R 1000 1 KG 1.310.947 9771 1281 3161 2 788 889 9321 2508 890]
~—P LT (FE6) 0802.21-000 20144E2 H 1H~12H Rt
[E4 BT S B4 (%8 e B %8
1000H] KG 0 = 0 0 = (1_.
&3t 1000 | KG 0 - 0 0 - 0
| FIAE [ H 28 10000 1 KG 0 = 0 0 = 0
~N—PIL T GREBRWEH D) 0802.22-000 2014462 H 1A~12A %2
E4 BAAT e A (iZE s A fli%E
218 A2y 1000 | KG 1.000] 1.100 1.100 1.000 1.100 1.100
220 A VT 1000 | KG 1.750 945 1.653 3.250 1.060 3.445
234 MLz 1000 KG 39 310 8924 32 388 101.260 {28 83 871
&t 1000 | KG 42.060 835 35.141 105.510 838 88.416
EnEAEEEE=R 1000 1 KG 124 785 584 72.839 151,491 584 ]88 528
=BTV ERAD 0802.60-000 20144E2 H 1A~12H %}
[E4 BT e B4 {Hi%E e X (%8
1000 | KG Q — Q Q — of
&3t 1000 | KG 0 - 0 0 - 0
EnEAEEEE=R 1000 1 KG 7,992 267 2137 7.992 267 2.137
~HTIY TV (FERWZHO) | 0802.60-000 20144E2 H 1H~12H %2
4 HAAT $E AT (i%E e AT (%E
06 S TT~7 1000 | KG 0 - 0 36.286 1.528 55.447
541 r=7 10000 | KG 17.870] 1.439 25.711 17.870 1.439 25,711
551 B 77U A HFnE 10000 | KG 1.995] 1.562 3.116 37.999 1.374 52.196
553 o4 1000 | KG 16.057f 1.413 22,694 16.057 1.413 22.694
601 AA—RALZUT 1000H] KG 106 868 1.437 153.620 230.897 1487 336.436
&3t 1000 | KG 142.790] 1.437] 205.141 339.109 1.452 492 484
EnEEEEE=R 1000 1 KG 266 3431 1.494] 308 543 504253 1460 736.029]
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2H

~Hh T3 TV (m—=A}) 2008.19-221 201442 H 1H~12H %=t

ERPA HEAT e AT ALZE M= AT AhEE
304 7 AU A AR E 10001 | KG 5.050] 2.927 14.783 10,307 3.077 31.719
801 A—ALZUT 1000 | KG 9032l 18730 16733 38,158 1 768 A7, 462
& et 10001 | KG 14.082] 2.238 31.516 48.465 2,046 99.181
| Pl [ A 24k 1000 | KG 248071 19008l 42030 102 517 14175 145094
E=di 0802.90-300 201442 H 1H~12H %Gt

A4 BAAT B T B B (A
204 7 R 5 A E 1000 | KG 92572 12308l 192930 29 838 1,342 53 446
&at 1000 | KG 9.252] 1,398 12,930 39,838 1,342 53.446
FEaEIES 1000 | KG 25852l 11771 30438 409015 1208 48 573
L—R 0806.20-000 201442 H 1H~12H %=t

E4 HEAT e AT ALZE M= AT AhEE
105 HeE A RN (E 10001 | KG 16.200 621 10.066 60,650 587 35.574
133 47 1000 | KG 0 - 0 12,525 362 4,535
218 AXA 10001 | KG 8461 1.119 947 3.066 1.237 3.793
220 A ZVT 1000 | KG 0 - 0 75 3.480 261
234 M= 10001 | KG 188.249 314 59.135 282,047 324 91.402
304 7 AV A AR [E 100011 | KG 2,182,932 3011 656.986] 4.312.526 3061 1.317.624
409 FV 100011 | KG 80.800 296 23.921 101.760 297 30.216
551 77U A 4 Fn[E 100011 | KG 17.500 315 5,619 70,000 311 21,738
601 A—2hFU7 10001 | KG 0 — 0 9 071 387 3,508
& et 10001 | KG 2.486.527 304] 756.574] 4.851.720 3111 1.508.651
| pliE [ 2 g 1000 f kG 1 2170870 205l 649339 5384 406 292l 1570169
HAT () 0813.10-000 201452 H 1H~12H #&t

FE4 HEAT M= AT ALZE i =R (%
105 e A BRIEFN[E 1000 | KG 0 - 0 12,000 318 3.818
124 /NERH 100011 | KG 0 - 0 1,200 808 969
234 bra 10001 | KG 32.612 332 10.821 108.707 430 46.769
304 7 AU ARE 100011 | KG 18,5501 1.416 26,268 35.784 1.475 52.778
551 B 71 A4 fnfE 1000 | KG 15,000 580 8703 15,000 580 8703
& et 100011 | KG 66.162 692 45.792 172.691 655 113.037
| Pl [ i 24k 1000 | KG 96 587 nqol 79364 185 008 533 102 600}
TN — (ErlE) 0813.20-000 201452 H 1H~12H %&t

FE4 AT M= AT ALZE M= AT AEE
210 772 A 10001 | KG 15.690 468 7.338 18.657 526 9.815
220 A ZVT 1000 | KG 700 874 612 700 874 612
304 7 AU A RE 100011 | KG 562.701 421 236.853] 1.429.105 426 609,494
409 F-1J 1000 | KG 0 — 0 21,000 264 7 638
&5t 1000 | KG 579.091 4231  244.803] 1.469.462 427 627.559
| piliE [E 208 1000 kG 1 12378788 3241 4605041 1985 /33 240l 675379
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BEE R (FUBHEAE A= D KRL . /RO T NEEEL)
Tt =P A 20144E1 H 1~12H #zt

R R BT R R | et e WA R
105 H# A B A F [ MT 0 0 0 0 0 0
NS T 0 0 0 0 0 0
ok fE AR A () 20144E1 A 1~12H B3t

4 AT R R | e R HEAE o
105 H# A B HF ] MT 861] 1.462 —601 861 1.462 —601
304 7 A B A H[E MT 0 0 0 0 0 0
601 A— AL T I MT 0 0 0 0 0 01
P T el 1460 —A01 261 | 460 —A01
SR RE AP/ (A%3) 20144E1 A 1~12H B3t

2 AT R BEEE | e R WA o
105w A B HF MT 805 448 357 805 448 357
123 A2 K MT 0 108 -108 0 108 -108
304 7 AU B A H[H MT 799 403 396 799 403 396
410 7521 MT 24 17 0 24 17 7
411 285074 MT 24 24 0 24 24 0
413 TP F o MT 245 317 —72 245 317 -72
551 B 7 7V A4 AnE MT 226 436 210 226 436 210
601 4~ AT T MT 55 0 55 55 0 55
=T T 51731753 108 5 73] 17, 105
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